Midpoint

Given: R is the midpoint
of PQ & ST

Prove: /p=.0
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Perpendicular

Given: BD ! 4B, BD L DE,
& BC=CD

Prove: AC=EC
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Perpendicular Bisector

Given: o is a perpendicular

bisector of PR

Prove: PSz=RS

¥y
C
D
Statement Reason
1. BD1 4B 1. Given
2. 2
3. BD.DE 3. Civen
4, 4
5. BC=CD B, QGiven
_, 6. 6
7 7
8. 8

P e R
S
Statement Reason _
1. s isa 1. Given
mﬁ%@ﬂ&ﬁﬁm
bisector of PR
2. 2.
S. 3.
4, 1 4.
5. 5.
a. 6.

Angle Bisector

Given: 4D bisects ZBAC,
ZB=sC

Prove: 4B=AC B
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4. Given: gg¢ is a perpendicular bisector of PR

Class Work
6. Given: BD1 4B, BDLDE, & BC=CD
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5. Given: A4p bisects ZBAC, ZB=/C D
Prove: AB=AC A - . 8. . VI
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Write a two-column proof.

1. Given: /p=/F,/DGE=/FGE 2. Given: MR=RP, /M= /P 3. Given: gy & xzbisect each 4. Given: soim & smvoare right
Prove: FG=DG Prove: NR=0or N other. X Y angles, /IMO=/NOM
R P Prove: /0=,y Prove: 10=NM L M
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of PR&PS=k5 @ ZPMQ = ZNOM P LGEJ & LGHT X bisector to AC
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